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Marks: 60 SUBJECTIVE (&1 / o B 50 : U
Note: Section I is m@ﬂ.m‘? &mmy “THREE (3) questions (3) Lfc... uf"r““f’""*’ mdjﬂd:l.o tked
from Section 1. However ques‘tton No. NINE (9) is compulsory - g (9 }f}d!r' Fl‘-ﬁu"—umf
Section [ JJil%
2- Write short answers to any SIX questions: {(2x6=12) .ﬁ;fa[.-‘ﬂ/"ﬁ.:—lﬁf(ﬁ}{c_df i
= If % 4 5 y [ 4 9] [
A=y gjletndlal - AP [ R B g z_"ﬁI o
i Simplify +/64x>y? Joaxdyt 2L i
i Gimplify 5% +(5%) ¥ L5 oL A i
5 : X X - o e
V- Find the value of "x" if logg, 8 = 3 logeq 8= = AN pprad § e v
v- If lcg 2=03010 | log3=04771 , log 5 =0.6990 , log 5=0.6920 , log3=0.4771 , log2=03010 )gl -V
then find the value of Jog 45 & ed §logds e
vi- Simplify 45 —3v20 + 44/5 VA5 -3204 445 £ i
vil- Define binomial surd -é Jﬂ._,(r‘"r S ._? 2 Vil
vil- Fatorize 14dal +2da+4 o P 1407 spdat | & L6 i
ix- Factorize 2x- I ]‘ff‘gx’”‘ LIt g 22 Sl J 33;@“ L ¢ Lix
3- Write short answers to any SIX questions: (2x6=12) _&gf-..-.-,l_-!'}"?i:.sﬂlr{ﬁ){:.df 3
1 1 ) 3
- Find sguare roof by factarization * —|+4—§ s | 1'4—2 .i‘-f B e §F ik -
.4 b8
i- Solve 9-7x >19-2x, where xR XeR L G-Tx>19-2x 2L F i
iii- Solve |2x+43/=11 2x+3=11 Z S i
iv- Find the values of m and ¢ by expressing in the form d‘ culm L ;'-f,,-i.b'._,c y=mx+¢ febls v
of y=mx+c. Cgm s
x+y-2=0 2x+y-2=0
9 s 9
V- f F=;C+32‘thenﬁndF if C=350° C=50° A2 oo (FiuF= SC €32 A v
vi- Find the distance between two points A(3, 2), B(=3,-2) A(5,2),B(-3,-2) = bl KiGn v
Vii- Find the mid point between two points A4, ~4), B(-4 ,4) A(d,-4), B(-4,4) .:’f#ﬁ-‘*..ﬂ ,}L—-u S _vi
vii- What is meantby AAS.A = A S.A T WAkl H P 55 s P 4l
ix- Find the unknown values of x° and y¥° in given fligure. = fs*“.f"d' Yol x® P i

75" 75
4- Write short answers to any SIX questions: (226=12) _ﬁgj@uxfﬁz..:ww]{adf -4
i- Define Bisector of an angle. E el i
ii- Varify that 13cm, 12cm and Scm are the sides of a (f Es S 205 5em s 12em, 13cm S g.:.:tﬁ -k
triangle, -t VB
fil- Define Ratio. 6 IR GO
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v- Verify that the triangle having following measures of sides

is right-angled triangle:
a=1.5¢m,b=2cm,c=2.5cm

vi- Find the area cf a square whose length of ane side is Qcm

vii- Find the area of given figure

viii- Define orthocentre,

ix- Construct 2 AABC, in which
MmAB=4.2em , mBC=39cm,mCA = 3.6cm

5- (2} Solvs by Crammers nile:

6 (a) Use log tables to find the vaiue of $/2.709 Y1239
[

{bh If 6x .- G, then find the value of 216x° _—
6x 216%°

7- tay If (x+2) isafactor of 3x* —4kx —4k?, then find
the values of K.

(b) Use division method to find the square roct of

X105 42710142
¥ Y X x°

(x20,y=0)

8- {a) Solvgfor'x. [®F2|13=3- x=2]
(b) (‘onstruci a triélng\e i’ﬁﬁ‘and draw its altiludes, if
mPQ = Gem , mQR = 4.5cm, mPR = 5.5cm

9- Prove that the bisectors of the angles of a triangle
are concurrent.

OR

Prove Ihat triangles on equal bases and of equal altitudes
are equal in area.
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2x+3y=-6
2x+5y=-10
P+ q4r /
P q p
(®) Simplify: {1— .(.a._ =5(P-a")"" | ax0 | ar
L at L a )

g

Liv

e o fE:...—r -y

PR
a=15am,b=2cm.c=1.5m
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mAB = 4 2cm , mBC = 3,%m , mCA = 3.6em
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,ﬂ.gmmw};; w APQR (L)
mPQ 6cm , mQR - 4,301, mPR = §.5em
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